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Nofe : Attempt all questions.
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Graph paper 1s required.

arar= g : (i) Wﬁa%maﬁa‘ﬁﬁrqﬁ%l
Use of calculator is not permitted.

mmﬁ?ﬂﬂw%twm)ﬁa@ﬁﬁﬁﬁwﬁm
() ¥ fr wA 1 Cd 79 @S (¥) ¥ wew/eraca feg me ¥
e TY T 1 30 Ifed €|

General Instructions :

(i)

Question No. 1 has three parts. In Part (A) Multiple choice

questions, in Part (B) Fill in the blanks and in Part (C) Write

true / false are given. Each question carries 1 mark.

(iif) ¥ w2 ® 6 T AMAIITAT W € | TS T W 2 3F
Hrefea 2 |
Question Nos. 2 to 6 are very short answer type questions.

Each question carries 2 marks.
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(iv) W w7 @ 10 T
Jeifea ¥ 1
Question Nos. 7 to 10 are
Each question carries 3 marks. ..
(v) W wAE 119 14%"?""13“‘?”““%]@%1} ST
forme £ | Yol WY W 4 3 aeifed €1

Question Nos. 11 to 14 are short answer type questions. Each
nal choice. Each question carries 4 marks.

very short answer type questions,

question has an inter
(vi) W 8 15 T 16 agmﬂﬂm%lmmﬁ arafien fased

¥ 1 T T W 5 o ormEifed € |

Question Nos. 15 and 16 are short answer type questions. Each

question has an internal choice. Each question carries 5 marks.
(vii) T heiieh 17 T 18 SreeadE 79T ¥ | I WY A it fashew
T | Tl W9 W 6 i 3MEifed § |

Question Nos. 17 and 18 are long answer type questions. Each

question has an internal choice. Each question carries 6 marks

av-1  (wus-ar) W faemed g fafa -
(Part-A) Choose and write the correct option :
() A& P(x)=6x*-5x+ 1 &, A P(1)F 7A &
(3 1
() 2
(@) S
() 6
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If P(x)=6x%—5x+ 1, then the value of P(1) wily be -
(@ !

)
©
@
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(3] (1]

e 1 T B
(ii) aﬁmmxz—ax”;ﬁ

(3 1
() 2
(" 3
. ‘ = ill be :
ffz)e Vallue of discriminant of quadratic equation x2—3x+2 0 will
(@) 1
b 2
(c) 3
@ -l
(34) fﬂ—'&'(—l,~3)mﬁ§,ﬂf¥1ﬁa‘ﬁﬂ ?
( 37) wu" =gt
(@) foda =g
(@) T T
(D =4 =gt
point (-1,—3) lies in which quadrant?

() Firstquadrent

Second quadrant

)

() Third quadrant
@ Fourth quadrant

o 30° % 0130 RALLE

(iv)
(an 1

1
(A T
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The value of tan30° x cot30° will be :
(@ 1

®) 7‘;

© B

@ 1
3

I qrafy st T A = A A s W s €, @ s
< & Tormn s =nfew . (1)

(37 3m=n

(F) TH-HUR
(9) IR T
() T

If in fixed deposit the interest is calculated quaterly, then rate of
interest per annum will be :

(@) half
(b) one-fourth

(¢) fourtimes
(d) twice

(wue-a ) faa wr +t g9fd s
(Part-B) Fill in the blanks :

@ (V3+1) sk (Ji.—“é].aﬂmmm 3 [

The arithmetic mean of (\E + 1) and (\E - 1) is

(i) 56 10 =1 =R i1

The fourth proportional of 5, 6, 10 is

(i) ﬁﬁ_ﬁaﬂmmﬂﬂﬁwaﬁ FAG 1o

: is . .
miameterl of any circle —_ofits radius,
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AT (1]

fcos(90° - 53%)is ———

(iv) cos(90°-53°) FAA _—

The value o N W
GE&Al ﬁlﬁl |
() o sl wE e A AE TR _——

The sum of an odd and even number is always .
[1x5=5]
(@uE-| ) T s I7Ed fofae

(Part-C) Write true or false ;
() ot et Tgys wIEY fER €
All congruent polygons are similar.
(i) y-mmﬁxmﬁﬁf‘agmx-ﬁ&mﬁquﬁm%ﬁ
The x-coordinate of any point on y-axis is zero.
(i) = H 9 PR €
A cuboid has 9 edges.

(iv) forefrg o 1 3 & W R 30 A T B ¢

The period from 1st April to 31st March is taken as financial year.

(v) afa Tqfa % TR 00w €, @ T=E H90° dm

If all the angles of quadrilateral are equal, then 90° is the measure of
each angle. http://www.cgboardonline.com

afe (1 +x): (3+%): (6+0) 8, T x 7 7F 3= Fifera ) 2
Find the value of x if (1+x): (3+x):(6+x).

: (2]
Calculate the distance of point (3, 4) from the origin,
- sec30° sin56°
A I FIATE o secd0® | cos3a® [2]

sec50° $in 56°
yalue of : 40° o
Find the COS€C cos34

_

/ P.T.O.
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WA-5  3x2+ Tx+ 1 =0 % 5@l &1 Aha @ ol 71d Hig ! (2]
Find the sum and product of the roots of
2+ 7x+1=0
wvE-6  WYH 3§ W gEmel @ slad 9 FH (2]

Find the average of first ten even numbers.
qy-7 mﬁm%aﬂﬂz—sﬁz)ﬁ(ﬁz)é g 0 | IOET =
i [3]
]
Prove that on dividing (2¢° + x2 - 5x + 2) by (x + 2), the remainder

1S Zero.

o Sage ded & SR F aRi 44 . £ 3fe e @t Fur 10 I, R,
4l AT F1 3FaA F1d FIIC [3]
The circumference of the base of a right circular cylinder is 44 cm. If the

height of the cylinder is 10 cm, then calculate the volume of the cylinder.

qEAR g TG LE (2n + 3)— (20— 3) F1 G UGS 8 &, STel n Th W HE
g1
(3]

Prove that a factor of (21 + 3)? — (2n — 3)* is 8, where n is a natural

number,

q97-10 1 FHHE 6x° + Ty + 2 = 0 F} & B 3]

Solve the quadratic equation 6x°+ 7x +2 =0,

q7-11 2 Q41 oo ameit 64 ol ) freren ¢ T a1 e s T | 98 Tt bl
fro 3 i | [4]

A big sphere is made by melting down 64 small spheres, cach of radius

2 em. Find radius of the big sphere.

arear
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3k 2rgaa T HifET

el g

If diameter of the base of a cone is 12 cm and its height is 8 cm, then find

the total surfacc area and volume of the cone.

39 G @1 1 T 9 ifog et geror % ¢ 9 @ fag (6, 0)

ez Gk 14)
Find the equation of that straight line which passes through the point
(6, 0) and whosc slope is g—
3rerar
OR
T wafE 3 S MR A 5 wfex Yge s o e H a9 ge ¥ i A
g fei =1 Fretifea aron J et T €
fe= 1 2 3 4 5
FA g RA F AAT(FHAF )| 4 3 2 1 0
T2 g &t w1 A o w1 dew & A ed Eitag )
A man filled 5 liters of petrol in the fuel tank of his vehicle. The table
below shows the five days and the petrol remaining on those days :
’703}' 1 2 3 4 5
Quantity of petrol remaining (in liter) 4 3 2 1 0
Draw a graph betwéen the petrol remaining and number of days.
gv-13 7= grot it Aifeae 9@ Hife

(4]

Fuf=w | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
amgfa ] 12 24 32 10 5
Find the median of the following table :
Class Interval | o-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
Frequency I 12 24 32 10 5
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arerar
OR
ﬁﬂwﬁ?ﬁa@ﬂ?maﬁm,
f_*rf-'f“ 0-10 | 10-20 | 20-30 30-40 | 40-50 50-50-
agfa 4 5 16 12 3 2
Find the mode of the following table :

30-40 | 40-50 50-60

12 3 2|

Class Interval
Frequency

fag Fifag v
#Wm%lu

“In a right-

wy-14
[4]

angled triangle, the square of the hypotenuse is

prove that~
of the other two sides.”

equal the sum of the squares

arerar

OR
Wqﬁaﬁﬁﬂzoﬁ.?lawaﬂimmﬁ#ﬁaaﬂ@Mm
3 ot 7 vt A FAC |

rele is 20 cm. The distance between two equal and parallel

The radius of a ci
chords is 24 cm. Find the length of chord.

ﬁmmﬂﬁq|mﬂﬁ@mﬁﬂaABC3ﬁmm

qoa-15 T AN POR &1
faad AB = -;‘:'PQ Gl (5]
Construct @ triangle POR. Construct another triangle ABC along with itin
such that AB = %PQ.
arerar
OR
.,.---"-"_-—""-_ — ‘_—__________———-/
S-2B+
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. Circle of A 4 BC
Write the Steps ofCOnstmction » Where 4B = 6cm, L4 = 45° /B = gQ°
Grar a_"”ﬁ-’-OOEFﬁmgaﬁatﬁsaﬁ%

Bt 2 ﬁm%aiﬁ*aa}sﬁmaﬁﬁmﬂmm

(5]

Vasim ¢
Pened : .
a recurring deposit account in Punjab National Bank. He

deposits R 200
. 200 ;
Permonth for 5 years. If rate of interest is 6% per annum,

find th i
€ amount he wij]] receive at the time of maturity.

?, A 39 I A TR i

I T T Frenan &
[ = & [ g HIFT &t T
1. 12,00,000 % 7% ¢ SRt el
2 12,00,001 % ¥ 5,00,000 5. 7 10%
5,00,001 . | 10,00,000 %, 7% 1 20%

% AR, 39 37T 1 3% ey S T £

The income of a government employee in financial year 2013-2014 was
Rs. 3,60,000. He deposited Rs. 20,000 as yearly premium on life insurance
policy and Rs. 4,000 every month in General Provident Fund. Ifa maximum
of Rs. 1,00,000 can be invested in any type of saving to qualify for tax

rebate, then calculate the payable income tax.

S-2 R+

P.T.O.
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The rates of tax aré as follows :

S1. No. Tax Limits Rate of
Tax
1. |Upto Rs. 2,00,000 NIL
2. |Rs. 2,00,001 to Rs. 5,00,000 10%
3. |Rs. 5,00,001 to Rs. | 0,00,000 20%
__.--'-'-_ __._-__-—__'—_ -

In addition, 3 39 education cess has to be paid over the income tax.

ag-17 #r4 FARR At 35 TR 3 TR S S,,Sz,sﬁmﬁga}aa‘a‘r@wuan
g 1 qe AR A 1, 2,3a‘r',a’rfaz-q,—'rﬁmﬁq

5r+'53:252

[6]

Sums of n terms of three arithmetic progressions are S, S5, S respectively.

If first term s 1 for every progression and common differences are 1, 2,3

respectively, then prove that S, +8; = 25,.

arear
OR

ﬁaﬂqﬁﬂﬁmﬂ%gﬂﬁm#ﬁﬁsﬂrwaﬂwﬂﬁmﬁm
#m#gﬂ@wﬂ;ﬁﬁﬁﬁ’tgﬁﬁﬁmmmaﬁml

[ was three times as old as my son. Ten years hence, I will be

5 years ago,
d my son’s present age.

fwice as old as my son. Find my present age an

qva-18 g S

cost sin(90°-0)
_ o eosb T —=2cot(90°-
sec(90° - 0) +1 cosect — 1 (0°=9) (6]

Prove that

cosd sin(90°—6)
+ - =
sec(90° - 0) +1  cosect — | 2001(90°=0)

3+
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3rerar
OR

mw%@ﬁﬁgﬂmﬁﬂﬂ@?mﬁéﬁaaﬁiﬂmﬁﬁ?ﬁw
%‘ﬁﬁwaﬁq'ﬂ 60° 1 IO T ® | R Vg Y Fard i ;i)

A tree breaks © storm and the broken part bends so that the top of the tree

touches th€ ground making an angle 60° with it. The distance between the

foot of the tree to the point where the top touches the ground is 6 meters.

gind the height of the tree.

.....................
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